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Appreciation on the 25th Question of National Volume B Science

Comprehensive Test in College Entrance Examination of 2023

ZENG Chaoyuan
(Sichuan Shimian County Middle School, Ya’an, Sichuan 625400)

Abstract: The 2023 college entrance examination ended. The college entrance examination questions are the

weather vane of the high school physics teachers. Aiming at the hot spots of the college entrance examination

physics proposition, this paper uses three methods to appreciate the 2023 college entrance examination national

volume B comprehensive science question 25 from multiple perspectives,and finally sum marizes and analyzes the

ideas to cultivate students’ core literacy ability.
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